oouobbooogoobuoooad

go oo

gooooooooooooo

20140 40 100



-1ijﬁﬁwffm

IZDDDdW
mn000: 4L

dxt?
.flxsa df
DDDDDD

dt It

f// f/l (x)
£, 000

gugoooboooobbobooodon

/20



000000000000

[, [ godx afx)

dr ’ g(x)
Xn nxn—l
e’ er
Inx %
sin x CoS X
cos X —sin x
sinh x cosh x
cosh x sinh x
cosh x = cte x,sinhx: f-et

20



goooo

m 0000
d _df dg
a(f+g)—dx+a,)C (1)
d
d—(fg) =f'g+f¢g (2)
X

ﬁ([)_f%—f@
dx\g) &



goooo

mz=g(y),y= (0000

dz _ dzdy
4

dx dydx @
dy 1

= ooo,
T iy f(@®), x = g(1)

dy dy/dt

- = (5)

dx — dx/dt



goooo

m 0000
z=g(),y=f(xooy

d
j@@ﬂwifgﬂmgim )
X
m 0000 f(x), g)0000
§f=f1famnzcu> @)
X
gooog

fﬂmmw;m—ffwx ®)



godad

[ RERERERERERE

/ A‘xz 44
fle+ A0 =f(@0) + Axf'(0) + == ()

AX3 Ax" ©)
=)+ —— () + ..
3! n!
E 00000000
/ sz 44
S(Ax) =f(0) + Axf"(0) + Tf 0)
' (10)

AX IN%
) 4 —— fT0) + ...
3! !

gbobobooooobbboooobboboooogoobooo
gooo



oooobod

e 0000000000 O0O0O0ODO0ODOODODOOODOO
0 OO (Ordinary Differential Equation, ODE) 0 0O O O

F(t, x(£), X (), .., X" V(0), X)) = 0 (11)

ggbbobuoooobbbuoooobbbuoooobo

e 000000000000 0O00DOO0DOODOOO0OO
000004 (Partial Differential Equation, PDE) O
0oo0o



ooooobod

mggooobooan

d"x N 0 d"'x
— +a,_
dr B g1

bt al(t)% +ao()x = b(r) (12)

gboooboobooboboogbosn=000000
gogoooo

R U00gboooooobbobooooboboobooon
ggbobobuoooobbooodgn



ooooobod

mJ00g0bogoboboboobobobooboobg
e J00000O0O0OO:

ou  0u

mgggoooogd:

ot ox

2 2
ERC RS

10/20

0 (14)



ooooobogn

20000000000

0’u 0*u 0*u ou _Ou
A—+8B +C—+D—+E—+Fu=G (16
0x? 0xdy 0y? Ox dy " (16)

0000 D=RB-4ACO00000000000000
goon

m D=0:000 (Parabolic)
m D>0: 000 (Hyperbolic)
m D<0:000 (Elliptic)

11/20



OD0O0O00oboooo@aooooon)

m00000O:

af _ fx)
dx — gO) a7
ooooo
gdy = f(x)dx (18)

ggboboboogobooboooon

[ sy = [ sevax+c (19)

12/20



OD0O0O00oboooo@aooooon)

m0000O:
Yy +P(x)y=0 (20)

ooooo |
—dy = —P(x)dx (21)
y

ggbbobuoooobbboooon

13/20



OD0O0O00oboooo@aooooon)

mQgdQogd:
Y + P(x)y = O(x) (22)
Jdogdooooogogood

y = exp (— f P(x)dx) { f exp ( f P(x)dx) O(x)dx + C}
(23)

14/20



O0O0O00boooOoUOOobooon)

mO00dQ0ogogono:
y'+ay +by=0 (24)

00000 A2+al+b=0000 00000000
ggbooboggoboodao

moldpdddoooooon

y = C1e™ + Cre™ (25)
me=400)0000

y = (C1 + Crx)e™ (26)
m 00000000 ptqgil 000

y = eP*(Cy cos gx + C; sin gx) (27)

15/20



O0O0O00boooOoUOOobooon)

m000000O0:
Y’ +ay + by = R(x) (28)

V'i+ay +by=000000 uly” +ay +by=R(x)00
oo yyoooooo@guoboon

y=u+y (29)

16/20



O0O0O00boooOoUOOobooon)

R U000oo0ooogogn:

Y+ P(x)y + Q(x)y =0 (30)

V' +P(x)y +Qx)y=0000000y,000000
oono

y=Ciy; fexp {— fP(x)dx} y‘zdx + Chyy (31)

17/20



O0O0O00boooOoUOOobooon)

m 0002000000 (1):
Y = fxy) (32)

y=pUOUody'=p 0oo10o00boog
p=fx,pdnoonog

R 0002000000 (2):
v =f.y) (33)

y=p0O000y =2,0000001000000
pE=fpp000000

18/20



O00000b00O0mDOOOOono)

" 00000000:
d

Y vaYray=0 (34
- dx

ggbbbuodgtde~dobbbooabbb

1

a, " +a,_1&" + - +a,ja+aa+ay=0 (35)

n000 a,as,---,, 00000000003 e, e,
L™ 000000000000 00ooooooa
oOoooo

y = Clealt + Cze(lzt + C3e(13t 4o+ Cneant (36)

ggbooogd

19/20



0000 (@0 90)

gbz2000000000000000

d’y  _dy
£X 52 16y=0
dx? dx+ Y

20/20



